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B.A. (Part- III) (Semester - xamination, January - 2023
ECONOMICS

DSE-E196 : Principles of Micro Economics - II (Special Paper-XII)
Sub. Code : 75831/80131

Day and Date : Tuesday, 3 - 01 - 2023 Total Marks : 40
Time : 2.30 p.m. to 4.30 p.m.

Instructions: 1)  All Questions are compulsory.
2)  Figures to the right indicate full marks.
3) Neatdiagram should be drawn where it is necessary.

Q1) Complete the following sentences by choosing the correct alternatives given

below. [5]
a) is an ideal type of market.

1)  Monopoly i)  Monopoly competition

i) Perfect competition iv) Oligopoly

b) Inperfect competitive market average revenue and marginal revenue are

i)  More and Less 1) Unequal
i) Equal iv) None of these
c) Selling cost is important for increase the of commodity.
)  Price i) Demand
i) Quality iv) None of these

d) In the process of short-term equilibrium under the perfect competition,
the marginal cost curve intersects to the marginal revenue curve

from ¥
)  Top to bottom i) Lefttoright
i) Bottom to top iv) None of these
e) formulated the uncertainty bearing theory of profit.
i)  Profknight i)  Schumpeter
ui) Prof. Halley 1v) None of these
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Q2) Write short note on any three of the -following : [15]
a) Features of monopoly competition
b) Oligopoly /
c) Product differentiation «
d) Excess capacity
e) Modem theory of rent
Q3) Write detail answers (any two) [20]
a)  Explain the Long period equilibrium of the firm and industry under perfect
competition.
b) Explain the Marginal Productivity Theory of Distribution.
c) Explain the ‘Liquidity preference theory of interest’ by Keynes.
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